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THEEE MHMKEFERINEEFE (F15) KiEstE

1 IRBAIURA R U X H

1 A
(Bfr:FM)
£ e B HIERTD%E W IE % it fi& %

1 E/KEE NG 491,365 2,000 493,365
1TE X I #® 430,120 2,000 432,120

1% K I &= 404,100 2,000 406,100 |KiEH&
2 BZKEEFEINGE 8,017 1,162 9,179
T2 ¥ I = 2,908 1,162 4,070

1% K I & 2,838 1,162 4,000 |KEHE
I &= 8 IR A& F 499,382 3,162 502,544
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(6L FM)
=K 17 B fHIERTDER f# IE % it i %

1 EXKEEXER 468,770 7,900 476,670
12 ¥ Z A 430,760 7,900 438,660

1RKRUEKE 54,310 10,100 64,410 |BUKRUBKEBSEIET2EM

2 BBAKRUOBKE 54,550 A 1,200 53,350 |EAKRUMKEBLBICETZEA

4 % 1% = 137,670 A 1,000 136,670 |EXEFBOLBRICETIER
2 MBI KEEEER 20,660 800 21,460
12 X # A 19,010 800 19,810

1 RAKEUVEKE 7,750 400 8,150 |BARUHKEBLRICETIER

2 BAKRUHBKE 4,080 400 4,480 |EkmuskEBLR-ETIER
3 ¥ i = 5,000 A 3,000 2,000
1% i 7 5,000 A 3,000 2,000
1% & = 5,000 A 3,000 2,000
I &% M X B & &t 494,430 5,700 500,130
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1 BRI A RV
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(Bf:-FM)
= 15 = 1] HIERTDEE tHIEZE &t s =
1 EKEEZINE 491,365 2,000 493,365
18 £ IX & 430,120 2,000 432,120
1 # K IX & 404,100 2,000 406,100
Fabiep of
E 4
1 KEHZ 404,100 2,000 406,100 212100 — 270100 = 2000
2 EiSKEBLINE 8,017 1,162 9,179
12 % I & 2,908 1,162 4,070
1 # K IX #& 2,838 1,162 4,000
T Fabiep ol
1 KEHS 2,838 1,162 4,000 2822 — 2660 = 1162
=] B 499,382 3,162 502,544
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(B FH)
£ i} = 0] HIERTDEE tHIEZE it i =z
1 EKEEZER 468,770 7.900 476,670
18 X & H 430,760 7,900 438,660
1 BARGEKE 54,310 10,100 64,410
KB B HES L
12 & H & 40,200 6,000 46.200 =
46,200 — 40,200 = 6,000
KEREERY
7,000 — 5,000 = 2,000
_ EEESRRRERY
19 £ &7 # 6,540 1,800 8340 |7
1,070 — 1,170 = A 100
EEERTY
270 — 370 = A 100
KR - 7K 15 TR SIS TR FI A 4t
21 M B & 500 A 200 300
300 — 500 = A 200
N KR R
2 E B B 1,600 400 2,000 i
2,000 — 1,600 = 400
KB - K IS RS s A
23 & # B 3,000 2,000 5000 =
5,000 — 3,000 = 2,000
BikRESES
27 LEAES 0 100 100 |
100 — 0 = 100
2 BAKRUHKE 54550 A 1200 53,350
E%OBERE
18 HREEIEE 400 A 200 200
200 — 400 = A 200
EEESEREEY
19 £ 3 % 11,170 A 1,000 10,170 200 - w0 = A0
= ’ ' ' RKABLHRR
2,000 — 2,700 = A 700
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(Bifr:FH)
S 1§ B FHIERTODEE FHIE%E H B &
ARYNEREBRRR
500 - 1,000 = A 500
SEBRERAH
1,500 - 1,200 = 300
4 ¥ R B 137,670 A 1,000 136,670
19 £ 57 #H 15,760 A 1,000 14,760 R ERERBER
0 - 1,000 = A 1,000
2 MSKEEEER 20,660 800 21,460
12 X &2 A 19,010 800 19,810
1 BARUEKE 7,750 400 8,150
26 B K B 2.200 400 2600 | PRHHMARAKR
2,600 — 2,200 = 400
2 BARUKKE 4,080 400 4,480
12 8 H B 1,100 300 1400 [PAIERBARSH
1,400 - 1,100 = 300
RKATEBESR
_ 600 — 800 = A 200
19 £ & H 1,410 A 400 1,010
WL E#RKERE
400 - 600 = A 200
23 & # & 1,000 500 1,500 S
1,500 — 1,000 = 500
3% ® ZE 5,000 A 3,000 2,000
1% & E 5,000 A 3,000 2,000
1% & E 5,000 A 3,000 2,000
T ¥ & E 5,000 A 3,000 2,000 PSR
2,000 — 5,000 = A 3,000
a8 Hi 494,430 5,700 500,130







